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For a given tax band, let a+10 be the UK tax rate for that band.

Let f(y) denote total revenues collected in Scotland from that band, at tax rate y:

and let S(x) denote the revenues received from that band by a Scottish government operating under the Calman rules, when it sets the Scottish rate of tax at x:

hence   S(x) = 
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Then the first derivative, 
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Therefore
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hence
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(i) Suppose first of all we are on the right hand side of the Laffer curve: that is, 
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: then it follows from equation (1) that
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(2)

that is, the change in the revenues coming to a Scottish government operating under Calman, when it increases its tax rate by 1, (expressed as a percentage of overall tax revenues collected in Scotland), will be greater than the percentage change in the revenues coming to an independent Scottish government facing the same Laffer curve, by an amount which is at least as large as the extreme right hand term in equation (2).  When x=10, (the natural starting value), then the term on the extreme right of equation (2) takes on the values of 2.5%, 1.9%, and1.6% for a= 10, 30 and 40 respectively. So on the right hand side of the Laffer curve, there is a very marked differential incentive to increase tax rate for a Scottish government operating under Calman, as compared with an independent Scottish government, (or a UK government facing a similar shape of Laffer curve.)

(ii) Suppose, on the other hand, that we are on the left hand side of the Laffer curve: that is 
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. Under all feasible scenarios, tax revenues will rise less than proportionately as the tax rate increases: that is, 
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Suppose that, in fact,  
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, for some 
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Then substituting into equation (1), it follows that
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(3)

In other words, in this case as well, the change in the revenues coming to a Scottish government operating under Calman, when it increases its tax rate by 1, (expressed as a percentage of overall tax revenues collected in Scotland), will be greater than the percentage change in the revenues coming to an independent Scottish government facing the same Laffer curve. This establishes the desired result.

This then raises the further question: how material is the differential incentive to change tax rate for a Scottish government operating under Calman, as compared with an independent Scottish government, when we are operating on the left side of the Laffer curve. This depends on the magnitude of the 
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 term in equation (3). If 
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 is close to 1, (which corresponds to the case when the elasticity of taxable income is close to 0), then the differential incentive effect is small. But if 
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 is materially less than 1, (which corresponds to the case when the elasticity of taxable income is relatively high), then the differential incentive effect will be important. Evidence from the UK suggests that the elasticity of taxable income for high earners in the UK is relatively high: (Institute for Fiscal Studies Briefing Note BN 84, 2009).  Moreover, taxable income elasticities for Scotland are likely to be a good deal higher than for the UK, because of greater opportunities for shifting tax residence. This suggests that differential tax incentives are likely to be significant on the left hand side of the Laffer curve for a Scottish government operating under Calman, as compared with an independent Scottish government– certainly for the upper tax bands, and possibly for all tax bands.

(iii) The conclusion is that, at all points on the Laffer curve, a Scottish government operating under Calman will always raise more in tax for a given increase in tax rate as compared with an independent or UK government facing the same Laffer curve: and at all points on the Laffer curve, this differential incentive is likely to be large.

Note

The home of this document is the Cuthbert website www.jamcuthbert.co.uk  

PAGE  
1

_1360252412.unknown

_1360252853.unknown

_1360253071.unknown

_1360259655.unknown

_1360260912.unknown

_1360260941.unknown

_1360259827.unknown

_1360253116.unknown

_1360252977.unknown

_1360252680.unknown

_1360251470.unknown

_1360251679.unknown

_1360252031.unknown

_1360251651.unknown

_1360251426.unknown

_1360251460.unknown

_1360251326.unknown

